How do
you know that
a + /3 1s not
equivalent to
any of the other
expressions?
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using the tape
diagrams?
unsure about
any of your
work?

why did you

diagrams show
equivalence if
choose a=1and

Would your tape
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How do you
know Andre did
It right?

How are Noah
and Elenad’s
mistakes
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what do you
mean by Noah
“should have

distributed”?

suggestion to
“divide by 27?

Can you tell me
more about your
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Where did you
get stuck?

Is there
something you
could try on the
second question

Instead of
writing ‘idk’?

wWhat does
double the result
mean?

Can you
try plugging in
3 for x and see if
It works with the
expression you
have provided?

When you see
Instructions like
“divide by 6,”
what are you
dividing by 67?
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